

BID TABULATION

Bid Name: GROUNDS MAINTENANCE - SE/SW ROW & Medians

Buyers Name: Eileen Marquez Buyer Email: emarquez@ocalafl.org

ProRFx ID: ITB09142000000113

Buyer Phone: 352-629-8362

Notifications Sent:

Solicitation No: ITB# PWD/200660 ProRFX Type: ITB: Services

Watching: 8
Bids: 7

697

11/18/2020 Notice of Intent to Gamco Properties III, INC pending City Council approval.

*Ortega Lee Cosby Ocala, FL	\$ 91,700.15
Gamco Properties III, INC Inverness, FL	\$133,005.00
*Southern Lawn Care Mid Florida Inc Ocala, FL	\$149,508.00
*Tree Service Group, Inc/RJW- Outdoor Service Specialist Ocala, FL	\$153,875.72
MWM Lawn and Landscape, LLC Lecanto, FL	\$166,358.00
*Southern Lawn Equipment Ocala, FL	\$ 175,765.00
Extreme Enterprises of Marion County, Inc Ocala, FL	\$189,756.91

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	SE 28th Ave from Ft Kinq St to SE				
PWD/SE 18-075	6th St	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$25.00	\$550.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$27.30	\$600.60
	MWM Lawn and Landscape, LLC	22	EA	\$25.00	\$550.00
	*Southern Lawn Equipment	22	EA	\$30.00	\$660.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$27.30	\$600.60

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	SE 29th Ave from Ft King St to SE				
PWD/SE 18-076	6th ST	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$25.00	\$550.00
	*Tree Service Group, Inc/RJW-			-	·
	Outdoor Service Specialist	22	EA	\$27.30	\$600.60
	·				·
	MWM Lawn and Landscape, LLC	22	EA	\$25.00	\$550.00
	*Southern Lawn Equipment	22	EA	\$30.00	\$660.00
	Extreme Enterprises of Marion			,	,
	County, Inc	22	EA	\$27.30	\$600.60
	2232,,			, <u>-</u> ,	+ 3 3 3 . 3 6
	SE 31st Ave from Ft King St to SE				
PWD/SE 18-077	6th St	22	EA		
1 110/02 20 077	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Care Mid Florida			Ÿ130.00	ψ3,300.00
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-		L/\	710.00	7220.00
	Outdoor Service Specialist	22	EA	\$10.47	\$230.34
	Outdoor Service Specialist		LA	Ş10. 1 7	Ş230.5 4
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion	22	LA	Ş13.00	7550.00
	· ·	22	EA	\$10.47	\$230.34
	County, Inc	22	EA	\$10.47	Ş230.3 4
	SE 31st Terr from Ft King St to SE				
PWD/SE 18-078	6th st	22	EA		
P VV D/3E 10-0/6		22		¢40.45	¢880.00
	*Ortega Lee Cosby Gamco Properties III, INC	22	EA EA	\$40.45 \$150.00	\$889.90 \$3,300.00
		22	EA	\$130.00	\$3,300.00
	*Southern Lawn Care Mid Florida	22	F 4	ć10.00	6220.00
	*Troe Service Crown Inc/DIM	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-	22	- A	640.47	6220.24
	Outdoor Service Specialist	22	EA	\$10.47	\$230.34
	NANA/NA 1 000000 = 000 4 1 = 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0	22	- A	640.00	6222.02
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion	22		4.5	4000 5
	County, Inc	22	EA	\$10.47	\$230.34

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	SE 32nd Ave from Ft Kinq St to SE				
PWD/SE 18-079	6th st	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-	22	EA	\$10.47	\$230.34
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion			_	
	County, Inc	22	EA	\$10.47	\$230.34

DIA/D /05 40 000	Advillage CE 42th Ct 0 CE 42 d Ave	22			
PWD/SE 18-080	Median - SE 13th St & SE 42nd Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$10.47	\$230.34
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$10.47	\$230.34

	Magnolia Ave Ext from SE 8th St				
	to SE 17th St & Lake Weir Ave				
PWD/SE 18-081	from SE 17th St to SE 38th St	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$300.00	\$6,600.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$180.00	\$3,960.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$181.55	\$3,994.10
	MWM Lawn and Landscape, LLC	22	EA	\$175.00	\$3,850.00
	*Southern Lawn Equipment	22	EA	\$210.00	\$4,620.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$181.55	\$3,994.10

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
PWD/SE 18-082	ROWIMedian- SE 18th Ave and SE 13th St. Mowing SE 18 Ave from SE 13 St to SE 31 ST both sides of the road. Road name changes to SE 19 Ave near SE 31 St	22	EA		
,	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$300.00	\$6,600.00
	*Southern Lawn Care Mid Florida Inc	22	EA	\$12.50	\$275.00
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist	22	EA	\$13.65	\$300.30
	MWM Lawn and Landscape, LLC	22	EA	\$175.00	. ,
	*Southern Lawn Equipment	22	EA	\$20.00	\$440.00
	Extreme Enterprises of Marion County, Inc	22	EA	\$13.65	\$300.30

	SE 7th St from SE 17th Ter to SE				
PWD/SE 18-083	24th Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$75.00	\$1,650.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$50.50	\$1,111.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$53.69	\$1,181.18
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$60.00	\$1,320.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$53.69	\$1,181.18

	SE 11th Ave from SE 8th St to SE				
	17th St and east corner of the				
PWD/SE 18-084	ROW of SE 17th st	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$75.00	\$1,650.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$50.50	\$1,111.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$53.69	\$1,181.18
	MWM Lawn and Landscape, LLC	22	EA	\$45.00	\$990.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Southern Lawn Equipment	22	EA	\$60.00	\$1,320.00
	Extreme Enterprises of Marion			·	. ,
	County, Inc	22	EA	\$53.69	\$1,181.18
	Median - SE 12th St and SE 10th				
PWD/SE 18-085	ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$125.00	\$2,750.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$8.96	\$197.12
				4	
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion	22		40.06	4407.46
	County, Inc	22	EA	\$8.96	\$197.12
	CE 24th Towardth of CE 42th DI				
DWD /CE 40 00C	SE 34th Ter south of SE 13th Pl	22			
PWD/SE 18-086	(shallow drainage retention area)	22	EA	¢40.45	¢000.00
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC *Southern Lawn Care Mid Florida	22	EA	\$125.00	\$2,750.00
		22		¢12.00	¢264.00
	Inc *Tree Service Group, Inc/RJW-	22	EA	\$12.00	\$264.00
	• • • • • • • • • • • • • • • • • • • •	22	ΕΛ	¢12.74	\$280.28
	Outdoor Service Specialist	22	EA	\$12.74	\$200.20
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion	22	LA	\$13.00	7550.00
	County, Inc	22	EA	\$12.74	\$280.28
	county, me	22	Lit	Ϋ12.7 ⁻¹	7200.20
PWD/SE 18-087	1600 blk SE 29th Ter	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Care Mid Florida			7 200.00	+ =,= 00.00
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-			,-5.00	, <u></u>
	Outdoor Service Specialist	22	EA	\$10.47	\$230.34
				,	,
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*C. Il 5 1				

*Southern Lawn Equipment

22

EΑ

\$15.00

\$330.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	Extreme Enterprises of Marion County, Inc	22	EA	\$10.47	\$230.34
PWD/SE 18-088	SE 18th Ave and SE 5th St	22	EA		
,	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$10.92	\$240.24
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion		-/-	715.00	, 555.00
	County, Inc	22	EA	\$10.82	\$238.04
				7	7-2233
	SE 12th Pl and SE 10th Ave - two				
	triangle medians & the corner of				
PWD/SE 18-089	SE 10 Ave & 13 St	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$12.00	\$264.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$12.74	\$280.28
	MWM Lawn and Landscape, LLC	22	EA	\$15.00	\$330.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$12.74	\$280.28
PWD/SE 18-090	SE 16th Ave and SE 5th St	22	EA		
P VV D/ 3E 16-090	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$65.00	\$1,430.00
	*Southern Lawn Care Mid Florida			705.00	71,430.00
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-			,	. 2 2 3
	Outdoor Service Specialist	22	EA	\$10.74	\$236.28
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion			Ç15.00	-
	County, Inc	22	EA	\$10.47	\$230.34

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
PWD/SE 18-091	SE 5th ST and SE 15th Ter	22	EA		
F WD/3E 16-091	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$65.00	\$1,430.00
	*Southern Lawn Care Mid Florida		L/\	705.00	71,430.00
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-			Ψ-0.00	Ψ
	Outdoor Service Specialist	22	EA	\$11.83	\$260.26
				7-1:00	Ψ_00.10
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$15.00	\$330.00
	Extreme Enterprises of Marion			-	·
	County, Inc	22	EA	\$11.83	\$260.26
					_
	SE 25th Ave from E State Road 40				
	to SE Maricamp Rd (including				
PWD/SE 18-092	behind the wall)	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$65.00	\$1,430.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$130.00	\$2,860.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$135.82	\$2,988.04
	MWM Lawn and Landscape, LLC	22	EA	\$190.00	\$4,180.00
	*Southern Lawn Equipment	22	EA	\$150.00	\$3,300.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$135.82	\$2,988.04
	SE 31st St from SE Maricamp Rd to				
	S Pine Ave including both sides of				
	bridge next to fence mow up to				
	Recycle center, including SE 5th				
	Terrace, and SE 7th Ave(SE and				
DWD /65 40 000	NW Corner), and NE Corner at	22	- ^		
PWD/SE 18-093	Lake Weir Ave and SE 31st St	22	EA	¢40.45	¢000.00
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Care Mid Florida	22		¢225.00	64.050.00
	Inc	22	EA	\$225.00	\$4,950.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist	22	EA	\$259.35	\$5,705.70
	MWM Lawn and Landscape, LLC	22	EA	\$300.00	\$6,600.00
	*Southern Lawn Equipment Extreme Enterprises of Marion County, Inc	22	EA EA	\$650.00 \$259.35	\$14,300.00 \$5,705.70
PWD/SE 18-094	SE Sanchez Ave and SE 11th St	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$22.00	\$484.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$23.89	\$525.58
					·
	MWM Lawn and Landscape, LLC	22	EA	\$10.00	\$220.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion			,	,
	County, Inc	22	EA	\$23.89	\$525.58
	,			·	·
	SE 24th Rd from Lake Weir Ave to				
PWD/SE 18-095	SE 31st Street	22	EA		
1110/02 20 033	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida			750.00	71,100.00
	Inc	22	EA	\$200.00	\$4,400.00
	*Tree Service Group, Inc/RJW-			\$200.00	уч,чоо.оо
	Outdoor Service Specialist	22	EA	\$202.93	\$4,464.46
	Gutugo: Gervier specialise			7202.33	ψ 1, 10 1. 10
	MWM Lawn and Landscape, LLC	22	EA	\$200.00	\$4,400.00
	*Southern Lawn Equipment	22	EA	\$150.00	\$3,300.00
	Extreme Enterprises of Marion			7130.00	75,500.00
	County, Inc	22	EA	\$202.93	\$4,464.46
	county, inc	ZZ	LA	7202.55	74,404.40
	SE 3rd Avenue from SE 8th Street				
DWD/SE 10 006		22	ΓΛ		
PWD/SE 18-096	to SE 24th St	22	EA	¢40.45	6000.00
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida	22		ć=0.00	64 400 00
	Inc	22	EA	\$50.00	\$1,100.00
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist	22	EA	\$53.69	\$1,181.18
		, , ,	. L /\		

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	22	EA	\$45.00	\$990.00
	*Southern Lawn Equipment	22	EA	\$60.00	\$1,320.00
	Extreme Enterprises of Marion			700.00	+ 1,0 10 10 10 10 10 10 10 10 10 10 10 10 10
	County, Inc	22	EA	\$53.69	\$1,181.18
	SE 8th Street from SE 3rd Avenue				
PWD/SE 18-097	to SE 1st Avenue	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida			, , , , ,	, ,
	Inc	22	EA	\$15.00	\$330.00
	*Tree Service Group, Inc/RJW-				•
	Outdoor Service Specialist	22	EA	\$16.38	\$360.36
	MWM Lawn and Landscape, LLC	22	EA	\$15.00	\$330.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$16.38	\$360.36
	SE 11th Avenue from SE 17th				
PWD/SE 18-098	Street to SE Lake Weir Avenue	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$40.00	\$880.0
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$20.02	\$440.44
	MWM Lawn and Landscape, LLC	22	EA	\$15.00	\$330.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$20.02	\$440.4
	SE 9th Avenue from SE 16th Street				
PWD/SE 18-099	to dead end	22	EA		
, , , , , , , , , , , , , , , , , , , ,	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$45.00	\$990.00
	*Southern Lawn Care Mid Florida			,	,
	Inc	22	EA	\$17.00	\$374.00
	*Tree Service Group, Inc/RJW-				

\$17.97

\$395.34

EA

22

Outdoor Service Specialist

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$20.00	\$440.00
	Extreme Enterprises of Marion	22	LA	720.00	уч- 0.00
	County, Inc	22	EA	\$17.97	\$395.34
	Godiney, inc			Ψ1/13/	ψ333.3 .
	SE 17th Street from SE 30 Ave to				
PWD/SE 18-100	SE 36 Ave	22	EA		
,	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$45.00	\$990.00
	*Southern Lawn Care Mid Florida			·	·
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-				•
	Outdoor Service Specialist	22	EA	\$20.98	\$461.56
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$20.93	\$460.46
DWD/CE 10 101	3500blk SE 13th Place (north side)	22	ГЛ		
PWD/SE 18-101	*Ortega Lee Cosby	22	EA EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$30.00	\$660.00
	*Southern Lawn Care Mid Florida	22	LA	730.00	7000.00
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-			720.00	Ç110.00
	Outdoor Service Specialist	22	EA	\$20.02	\$440.44
	eutussi service spesiunst			Ψ20.02	ψ
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				·
	County, Inc	22	EA	\$20.02	\$440.44
	SE 5th Street and SE Wenona				
PWD/SE 18-102	Avenue	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$45.00	\$990.00
	*Southern Lawn Care Mid Florida	_			
		22	. гл	\$20.00	\$440.00
	Inc	22	EA	\$20.00	70.00
	Inc *Tree Service Group, Inc/RJW- Outdoor Service Specialist	22	EA	\$20.00	\$440.44

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$20.00	\$440.00
	Extreme Enterprises of Marion			φ=0.00	φ
	County, Inc	22	EA	\$20.02	\$440.44
				7-0:0-	7
PWD/SE 18-103	SE 5th Street and SE 9th Avenue	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$30.00	\$660.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$20.02	\$440.44
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$20.00	\$440.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$20.02	\$440.44
DWD/CE 19 104	SE 22nd Avenue and SE 17th	22	ΕΛ.		
PWD/SE 18-104	Street (NW Corner)		EA	\$40.45	¢000 00
	*Ortega Lee Cosby	22	EA		\$889.90
	Gamco Properties III, INC	22	EA	\$30.00	\$660.00
	*Southern Lawn Care Mid Florida	22	Ε.Δ.	¢20.00	Ć 4 4 0 . O O
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-	22	5 A	624.04	ć 402 CO
	Outdoor Service Specialist	22	EA	\$21.94	\$482.68
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$20.00	\$440.00
	Extreme Enterprises of Marion			720.00	Ç 7-10.00
	County, Inc	22	EA	\$21.84	\$480.48
	35 d(),			Ψ==:σ:	φ 100110
	SE 44th Avenue from E Fort King				
	Street to SE 8th Street both sides,				
PWD/SE 18-105	and next to the fence	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$30.00	\$660.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$20.00	\$440.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$20.98	\$461.56
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$20.93	\$460.46

	1400blk SE 30th Avenue sidewalk areas (east and west side), and medians near SE 7th st and SE 4th				
PWD/SE 18-106	st	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$30.00	\$660.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$50.00	\$1,100.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.05	\$1,101.10
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$50.00	\$1,100.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$50.05	\$1,101.10

	E Fort King St from SE Watula Ave to SE 47th Ave at city limits (DO				
	NOT cut center medians) Including				
	concrete wall on SE 28th Ave and Ft King Street on the south side				
PWD/SE 18-107	behind handrail	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$30.00	\$660.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$225.00	\$4,950.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$23.89	\$525.58
				4	
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$265.00	\$5,830.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$23.89	\$525.58

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	SE 18th Street from SE 30th				
	Avenue to SE 24th Street, and SE				
PWD/SE 18-108	32nd Avenue	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$50.00	\$1,100.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$53.69	\$1,181.18
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$60.00	\$1,320.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$53.69	\$1,181.18
				<u> </u>	
	SE 36th Avenue from E Fort King				
	St to SE 31st st (including the				
	utility box located on the ne				
PWD/SE 18-109	corner of 464/ SE 36th ave)	22	EA		
,	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$75.00	\$1,650.00
	*Southern Lawn Care Mid Florida			710100	+ - / - / - / - / - / - / - / - / - / -
	Inc	22	EA	\$205.00	\$4,510.00
	*Tree Service Group, Inc/RJW-			7=00.00	Ţ 1,0 = 0.00
	Outdoor Service Specialist	22	EA	\$209.30	\$4,604.60
				7200.00	ψ 1,00 1.00
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$225.00	\$4,950.00
	Extreme Enterprises of Marion			Ç225.00	ψ 1,550.00
	County, Inc	22	EA	\$209.30	\$4,604.60
	country, me			7203.30	ψ 1,00 1.00
	Under Power Lines at 4400BLK SE				
PWD/SE 18- 110	8th Street (south side)	22	EA		
1 VVD/3L 10- 110	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida	LL	EA	\$50.00	\$1,100.00
		วา	ΕΛ	¢20.00	¢440.00
	*Troe Service Croup Inc/PIW	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-	22		¢20.02	6440.44
	Outdoor Service Specialist	22	EA	\$20.02	\$440.44
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	Extreme Enterprises of Marion County, Inc	22	EA	\$20.02	\$440.44
	SE 19th Avenue from E Fort King				
PWD/SE 18-111	Street to SE 5th St	22	EA		
1 110/32 10 111	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$40.00	\$880.00
	*Southern Lawn Care Mid Florida			φ 10100	φοσοίσο
	Inc	22	EA	\$50.00	\$1,100.00
	*Tree Service Group, Inc/RJW-			750.00	γ1,100.00
	Outdoor Service Specialist	22	EA	\$50.05	\$1,101.10
	Outdoor Service Specialist		L/\	750.05	71,101.10
	MWM Lawn and Landscape, LLC	22	EA	\$60.00	\$1,320.00
	*Southern Lawn Equipment	22	EA	\$50.00	\$1,100.00
	Extreme Enterprises of Marion			700.00	Ψ=)===:==
	County, Inc	22	EA	\$50.05	\$1,101.10
L	35 4		<u> </u>	700.00	+ = / = 0 = 1
	SE 3rd Street from SE 15th Avenue				
PWD/SE 18-112	and SE 12th Terrace	22	EA		
, 5	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$40.00	\$880.00
	*Southern Lawn Care Mid Florida			7 10100	7 0 0 0 1 0 0
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-			,	,
	Outdoor Service Specialist	22	EA	\$20.02	\$440.44
				7-010-	7
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion			7-0100	7000100
	County, Inc	22	EA	\$20.02	\$440.44
			<u> </u>	· ·	,
	SE 3rd Avenue from SE 3rd Street				
	to SE 8th Street (including median				
	at Watula Ave water tank and				
PWD/SE 18-113	parking lot)	22	EA		
, 62 26 226	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$40.00	\$880.00
	*Southern Lawn Care Mid Florida			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, 32233
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,
	Outdoor Service Specialist	22	EA	\$20.02	\$440.44
	Catalon Service Specialist			720.02	φ

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MANA/AA Lawa and Landagana LLC	22	F 4	¢25.00	ć550.00
	MWM Lawn and Landscape, LLC	22	EA	\$25.00	\$550.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion	22	Ε.Δ.	¢20.02	ć 4.40. 4.4
	County, Inc	22	EA	\$20.02	\$440.44
	S Magnolia Ave from East State				
PWD/SE 18-114	Road 40 to SE 8th Street	22	EA		
·	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$40.00	\$880.00
	*Southern Lawn Care Mid Florida				,
	Inc	22	EA	\$50.00	\$1,100.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.05	\$1,101.10
	MMM Laws and Landscana LLC	22	ΕΛ	¢EE OO	ć1 210 00
	MWM Lawn and Landscape, LLC	22	EA	\$55.00	\$1,210.00
	*Southern Lawn Equipment	22	EA	\$60.00	\$1,320.00
	Extreme Enterprises of Marion	22	ΓΛ	¢50.05	ć1 101 10
	County, Inc	22	EA	\$50.05	\$1,101.10
	SE 24th Rd from SE 3rd Ave to SE				
PWD/SE 18-115	Lake Weir Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$40.00	\$880.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$70.00	\$1,540.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$72.80	\$1,601.60
	MANAMA and Landsons III C	22	E ^	\$50.00	¢1 100 00
	MWM Lawn and Landscape, LLC *Southern Lawn Equipment	22	EΑ	\$50.00	\$1,100.00
	Extreme Enterprises of Marion	22	EA	\$80.00	\$1,760.00
	County, Inc	22	EA	\$72.80	\$1,601.60
	county, inc		-/ (7,2.00	71,001.00
	SE 7th Avenue from SE 17th St to				
PWD/SE 18-116	SE 19th Street	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$40.00	\$880.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-	22	5 A	620.00	A 40.00
	Outdoor Service Specialist	22	EA	\$20.02	\$440.44

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion			,	,
	County, Inc	22	EA	\$20.02	\$440.44
					•
	SE 12th Street from SE 13th Street				
PWD/SE 18-117	east to SE 32nd Avenue	22	EA		
·	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$40.00	\$880.00
	*Southern Lawn Care Mid Florida				·
	Inc	22	EA	\$40.00	\$880.00
	*Tree Service Group, Inc/RJW-				·
	Outdoor Service Specialist	22	EA	\$42.54	\$935.88
					·
	MWM Lawn and Landscape, LLC	22	EA	\$45.00	\$990.00
	*Southern Lawn Equipment	22	EA	\$40.00	\$880.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$42.54	\$935.88
			•	<u> </u>	
	SE 18th Place and SE 14th Avenue				
PWD/SE 18-118	(east side)	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$35.00	\$770.00
	*Southern Lawn Care Mid Florida				·
	Inc	22	EA	\$25.00	\$550.00
	*Tree Service Group, Inc/RJW-				·
	Outdoor Service Specialist	22	EA	\$27.76	\$610.72
	·				
	MWM Lawn and Landscape, LLC	22	EA	\$30.00	\$660.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				•
	County, Inc	22	EA	\$27.76	\$610.72
	· ·			1	
	SE 17th Street in front of "wall"				
	between SE 20th Ave and SE 22nd				
PWD/SE 18-119	ave - north side of SE 17th st	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$35.00	\$770.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$50.00	\$1,100.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.05	\$1,101.10
	MWM Lawn and Landscape, LLC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Equipment	22	EA	\$30.00	\$660.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$50.05	\$1,101.10

	SE 16th PI from SE Magnolia Ext to				
	9th Ave, next to fence line				
	includes mowing ROW behind				
	utility poles, fire hydrants, edging				
	sidewalks, weed eating when				
PWD/SE 18-120	needed	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$35.00	\$490.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$50.00	\$700.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$50.05	\$700.70
	MWM Lawn and Landscape, LLC	14	EA	\$75.00	\$1,050.00
	*Southern Lawn Equipment	14	EA	\$25.00	\$350.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$50.05	\$700.70

	SE 24th St from SE 36th Ave to				
	Maricamp Rd mowing ROW next				
	to tree line and fence line,				
	includes mowing ROW behind				
	utility poles, fire hydrants. edqinq				
	sidewalks, weed eating when				
PWD/SE 18-122	needed	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$35.00	\$490.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$50.00	\$700.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$23.89	\$334.46
	MWM Lawn and Landscape, LLC	14	EA	\$55.00	\$770.00
	*Southern Lawn Equipment	14	EA	\$30.00	\$420.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$50.05	\$700.70
	SE 35th Ave & SE 36th Ave from				
PWD/SE 18- 123	SE 5th Street to SE 13th Street	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$75.00	\$150.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$27.76	\$55.52
					_
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.44	\$70.88
	Miscellaneous - SE 5th Pl & SE 6th				
PWD/SE 18-124	St from SE 34th Ave & SE 35th Ave	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$40.00	\$80.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$53.69	\$107.38
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.44	\$70.88
	Miscellaneous - SE 6th Street, and				
	SE 8th Street from SE 35th Ave				
PWD/SE 18-125	and SE 33rd Ave	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$40.00	\$80.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$61.20	\$122.40
	·		•		·

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 12th Street,				
	and SE 34th Terrace from SE 35th				
PWD/SE 18-126	Avenue to SE 33rd ave	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$40.00	\$80.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-	_		4	4
	Outdoor Service Specialist	2	EA	\$100.00	\$200.00
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 33rd Ave, and				
D	SE 34th Ave from SE 12th Street to				
PWD/SE 18-127	SE 6th St	2	EA	Ć40.45	¢00.00
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$40.00	\$80.00
	*Southern Lawn Care Mid Florida	2	ΓΛ	¢3E 00	\$70.00
	Inc *Tree Service Group, Inc/RJW-	2	EA	\$35.00	\$70.00
	Outdoor Service Specialist	2	EA	\$35.44	\$70.88
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion	2		605.51	474.00
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 12th Street to				
	SE 13th Street from SE 36th				
PWD/SE 18-128	Avenue, and SE 32nd Ave	2	EA		
, , , , , , , , , , , , , , , , , , , ,	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	2.1384 200 00007		ļ <u>- ' '</u>	Ţ . J J	755.50

2

EΑ

Gamco Properties III, INC

\$40.00

\$80.00

Line Item Number	Description	Quantity	Unit of Measure	Unit Price	Amount
	*Southern Lawn Care Mid Florida		ment		
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-		2,1	φ33.00	φ,σ.σσ
	Outdoor Service Specialist	2	EA	\$35.44	\$70.88
				,	· ·
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08
				•	
	Miscellaneous -SE 32nd Ave, and				
	SE 33rd Ave from 13th Street to				
PWD/SE 18-129	SE 6th Street	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$50.00	\$100.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$35.44	\$70.88
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 6tth Street,				
	and SE 4th Street from SE 32nd				
PWD/SE 18-130	and SE 4th Street from SE 32hd ave to SE 5th Pl	2	EA		
P VV D/ 3E 16-13U	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$50.00	\$100.00
	*Southern Lawn Care Mid Florida	2	LA	\$30.00	\$100.00
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-		L/\	\$33.00	770.00
	Outdoor Service Specialist	2	EA	\$31.85	\$63.70
	eutussi service specialist	_		φ32.03	φοσ., σ
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 35th Ter & SE				
	34th Ave from SE 34th Ave to SE				
PWD/SE 18-131	34th Ter	2	EA		
1 MD/2F 10-131	34til [El		LA		

Line Item Number	Description	Quantity	Unit of Measure	Unit Price	Amount
			ment		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$50.00	\$100.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$9.10	\$18.20
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08

	Miscellaneous - SE 31st Ave & SE				
	30th Ave from SE 7th Street, and				
PWD/SE 18-132	SE Fort King Street	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$31.85	\$63.70
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08

	Miscellaneous - SE 29th Terrace				
	and SE 30th Ave from SE Fort King				
PWD/SE 18-133	St to SE 4th Street	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$31.85	\$63.70
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08

*Southern Lawn Care Mid Florida Inc 2 EA \$35.00 *Tree Service Group, Inc/RJW-Outdoor Service Specialist 2 EA \$36.40 MWM Lawn and Landscape, LLC 2 EA \$35.00 *Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave PWD/SE 18-135 to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	\$80.90
PWD/SE 18- 134 Street to SE 7th Street 2 EA	\$80.90
*Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00 *Southern Lawn Care Mid Florida Inc 2 EA \$35.00 *Tree Service Group, Inc/RJW-Outdoor Service Specialist 2 EA \$36.40 MWM Lawn and Landscape, LLC 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave YOrtega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	\$80.90
Gamco Properties III, INC 2 EA \$60.00 *Southern Lawn Care Mid Florida Inc 2 EA \$35.00 *Tree Service Group, Inc/RJW-Outdoor Service Specialist 2 EA \$36.40 MWM Lawn and Landscape, LLC 2 EA \$35.00 *Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave to SE 2nd Street 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	ጎ ደበ ዓበ
*Southern Lawn Care Mid Florida Inc 2 EA \$35.00 *Tree Service Group, Inc/RJW-Outdoor Service Specialist 2 EA \$36.40 MWM Lawn and Landscape, LLC 2 EA \$35.00 *Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave to SE 2nd Street 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	
Inc 2 EA \$35.00 *Tree Service Group, Inc/RJW-Outdoor Service Specialist 2 EA \$36.40 MWM Lawn and Landscape, LLC 2 EA \$35.00 *Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave PWD/SE 18-135 to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	\$120.00
*Tree Service Group, Inc/RJW-Outdoor Service Specialist 2 EA \$36.40 MWM Lawn and Landscape, LLC 2 EA \$35.00 *Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave PWD/SE 18-135 to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	
Outdoor Service Specialist 2 EA \$36.40 MWM Lawn and Landscape, LLC 2 EA \$35.00 *Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	\$70.00
MWM Lawn and Landscape, LLC 2 EA \$35.00 *Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	
*Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	\$72.80
*Southern Lawn Equipment 2 EA \$35.00 Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	
Extreme Enterprises of Marion County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave 1 to SE 2nd Street 2 EA 1 *Ortega Lee Cosby 2 EA \$40.45 1 Gamco Properties III, INC 2 EA \$60.00	\$70.00
County, Inc 2 EA \$35.54 Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave to SE 2nd Street 2 EA \$40.45 *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	\$70.00
Miscellaneous - SE 4th Street & SE Fort King Street from SE 32nd Ave to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	7
PWD/SE 18-135	\$71.08
PWD/SE 18-135	
PWD/SE 18-135 to SE 2nd Street 2 EA *Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	
*Ortega Lee Cosby 2 EA \$40.45 Gamco Properties III, INC 2 EA \$60.00	
Gamco Properties III, INC 2 EA \$60.00	
	\$80.90
*Courte and Lavin Court Maid Florida	\$120.00
*Southern Lawn Care Mid Florida	
Inc 2 EA \$35.00	\$70.00
*Tree Service Group, Inc/RJW-	
Outdoor Service Specialist 2 EA \$91.00	\$182.00
MWM Lawn and Landscape, LLC 2 EA \$35.00	\$70.00
*Southern Lawn Equipment 2 EA \$35.00	\$70.00
Extreme Enterprises of Marion	-
. County, Inc 2 EA \$35.54	\$71.08
Miscellaneous - SE 32nd Ave, and	
SE 33rd Ave from Fort King Street	
PWD/SE 18-136 to SE 4th Street 2 EA	
*Ortega Lee Cosby 2 EA \$40.45	\$80.90
	\$120.00
*Southern Lawn Care Mid Florida	7120.00
Inc 2 EA \$35.00	\$70.00
*Tree Service Group, Inc/RJW-	ψ / O.00
Outdoor Service Specialist 2 EA \$18.20	
Suitabol Service Specialist 2 LA \$10.20	\$36.40
MWM Lawn and Landscape, LLC 2 EA \$35.00	\$36.40
*Southern Lawn Equipment 2 EA \$35.00	\$36.40 \$70.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	Extreme Enterprises of Marion County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 3rd Street, and				
	SE 4th Street from SE 33rd Ave to				
PWD/SE 18-137	SE 35th Ave	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$22.75	\$45.50
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	¢70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00 \$70.00
	Extreme Enterprises of Marion		EA	\$55.00	\$70.00
	County, Inc	2	EA	\$35.54	\$71.08
	County, inc		LA	7 33.54	\$71.00
	Miscellaneous - SE 2nd Street, and				
	SE 3rd Street from SE 2nd Street				
PWD/SE 18-138	and SE 35th Ave	2	EA		
,	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida			-	·
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-			-	·
	Outdoor Service Specialist	2	EA	\$40.95	\$81.90
	A04/0.4 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	•		405.5	4
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion	2		ć25 54	ć74 OO
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 39th Ave, and				
PWD/SE 18-139	SE 39th Ter from 700blk to 500blk	2	EA		
· WD/32 10 133	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida		-, (700.00	Ţ120.00
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-			,	,
	Outdoor Service Specialist	2	EA	\$9.33	\$18.66

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				•
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous SE 39th Terrace,				
	and SE 40th Ave from SE 8th				
PWD/SE 18-140	Street to 500blk	2	EA		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-	2	EA	\$36.00	\$72.00
	NAMA Lavora and Landacana III C	2	5 4	ć25.00	ć70.00
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion	_			4
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE Wenona Ave &				
	SE Sanchez Ave from SE 8th St to				
PWD/SE 18-141	SE 9th st	2	EA		
·	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida			, , , , ,	,
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-			ψ33.00	ψ, σ.σσ
	Outdoor Service Specialist	2	EA	\$36.00	\$72.00
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 12th Street &				
	SE 13th Street from SE Sanchez				
	Ave to SE 9th				
PWD/SE 18-142	Ave to SE 9th Ave	0	EA		
r WD/3E 18-142	*Ortega Lee Cosby	2	EA	\$40.45	\$90.00
					\$80.90 \$120.00
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida	2	F 4	ć3F 00	670.00
	Inc	2	EA	\$35.00	\$70.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist	2	EA	\$35.50	\$71.00
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment Extreme Enterprises of Marion	2	EA	\$35.00	\$70.00
	County, Inc	2	EA	\$35.54	\$71.08
PWD/SE 18-143	Miscellaneous - SE 13th Street & SE 14th Street from SE Sanchez Ave to SE Wenona Ave	2	EA		
1 WD/3L 10-143	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida	۷	LA	00.00	Ş12U.UU
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-		LA	733.00	770.00
	Outdoor Service Specialist	2	EA	\$36.00	\$72.00
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion	2	5 4	625.54	ć74.00
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 11th Street and				
	SE 12th St from SE 9th Ave to SE				
PWD/SE 18-144	Wenona Ave	2	EA		
	*Ortega Lee Cosby		EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida				·
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$34.00	\$68.00
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				·
	County, Inc	2	EA	\$35.54	\$71.08
	Miscellaneous - SE 6th Street and SE 8th Street from SE Sanchez Ave				
PWD/SE 18- 145	to SE Tuscawilla Ave	2	EA		

Line Herry Niverhein	Dagariakian	O	Unit of	Unit Daise	Amanust
Line Item Number	Description	Quantity	Measure	Unit Price	Amount
			ment		
	*Ortega Lee Cosby	2	EA	\$40.45	\$80.90
	Gamco Properties III, INC	2	EA	\$60.00	\$120.00
	*Southern Lawn Care Mid Florida				
	Inc	2	EA	\$35.00	\$70.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	2	EA	\$35.00	\$70.00
	MWM Lawn and Landscape, LLC	2	EA	\$35.00	\$70.00
	*Southern Lawn Equipment	2	EA	\$35.00	\$70.00
	Extreme Enterprises of Marion				
	County, Inc	2	EA	\$35.54	\$71.08

	Miscellaneous ·SE 1st Ter from SE				
PWD/SE 18-146	8th St to dead end	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$50.00	\$1,100.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$65.25	\$1,435.50
	MWM Lawn and Landscape, LLC	22	EA	\$35.00	\$770.00
	*Southern Lawn Equipment	22	EA	\$40.00	\$880.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$65.79	\$1,447.38

PWD/SE 18-147	Miscellaneous - SE Magnolia from SE 8th Street to SE 3rd Ave this includes the embankment next to the railroad tracks down SE 3rd Ave	3	EA		
	*Ortega Lee Cosby	3	EA	\$40.45	\$121.35
	Gamco Properties III, INC	3	EA	\$125.00	\$375.00
	*Southern Lawn Care Mid Florida				
	Inc	3	EA	\$225.00	\$675.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	3	EA	\$375.00	\$1,125.00
	A040A1	2		¢ 250.00	6750.00
	MWM Lawn and Landscape, LLC	3	EA	\$250.00	\$750.00
	*Southern Lawn Equipment	3	EA	\$45.00	\$135.00
	Extreme Enterprises of Marion				
	County, Inc	3	EA	\$413.69	\$1,241.07

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	Median/ROW From S Pine/ SW				
	32nd St west on SW 42nd St to SR				
	200 on both				
	sides and medians. Mow the				
	corner of SE 32 St & 3 Ave				
	southeast corner of the				
	intersection to the fence. No lot				
PWD/SE 18-148	number	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$125.00	\$2,750.00
	*Southern Lawn Care Mid Florida			,	, ,
	Inc	22	EA	\$225.00	\$4,950.00
	*Tree Service Group, Inc/RJW-				. ,
	Outdoor Service Specialist	22	EA	\$200.00	\$4,400.00
	MWM Lawn and Landscape, LLC	22	EA	\$265.00	\$5,830.00
	*Southern Lawn Equipment	22	EA	\$425.00	\$9,350.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$257.53	\$5,665.66
	Median/ ROW - SW 27th Ave from				
	W SR 40 to SW 42nd St. Additional				
	mowing required around several				
	trees in the 500 blk & 700 blk east				
PWD/SE 18-149	side of the road	22	EA	4	4
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Care Mid Florida				
	1	22		¢225.00	ĆE 470.00
	*Tree Service Crown Inc/DIM	22	EA	\$235.00	\$5,170.00
	*Tree Service Group, Inc/RJW-				
		22	EA EA	\$235.00 \$235.00	\$5,170.00 \$5,170.00
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist	22	EA	\$235.00	\$5,170.00
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist MWM Lawn and Landscape, LLC	22 22	EA EA	\$235.00 \$60.00	\$5,170.00 \$1,320.00
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist MWM Lawn and Landscape, LLC *Southern Lawn Equipment	22	EA	\$235.00	\$5,170.00
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist MWM Lawn and Landscape, LLC *Southern Lawn Equipment Extreme Enterprises of Marion	22 22 22	EA EA EA	\$235.00 \$60.00 \$250.00	\$5,170.00 \$1,320.00 \$5,500.00
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist MWM Lawn and Landscape, LLC *Southern Lawn Equipment	22 22	EA EA	\$235.00 \$60.00	\$5,170.00 \$1,320.00
	*Tree Service Group, Inc/RJW- Outdoor Service Specialist MWM Lawn and Landscape, LLC *Southern Lawn Equipment Extreme Enterprises of Marion	22 22 22	EA EA EA	\$235.00 \$60.00 \$250.00	\$5,170.00 \$1,320.00 \$5,500.00
	*Tree Service Group, Inc/RJW-Outdoor Service Specialist MWM Lawn and Landscape, LLC *Southern Lawn Equipment Extreme Enterprises of Marion County, Inc	22 22 22	EA EA EA	\$235.00 \$60.00 \$250.00	\$5,170.00 \$1,320.00 \$5,500.00
PWD/SE 18-150	*Tree Service Group, Inc/RJW- Outdoor Service Specialist MWM Lawn and Landscape, LLC *Southern Lawn Equipment Extreme Enterprises of Marion	22 22 22	EA EA EA	\$235.00 \$60.00 \$250.00	\$5,170.00 \$1,320.00 \$5,500.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$100.00	\$2,200.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$100.00	\$2,200.00
	MWM Lawn and Landscape, LLC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Equipment	22	EA	\$125.00	\$2,750.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$101.92	\$2,242.24

	Median/ ROW - SW 19th Ave from				
PWD/SE 18-151	SW 17th St to SW 27th Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$190.00	\$4,180.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$194.00	\$4,268.00
	MWM Lawn and Landscape, LLC	22	EA	\$205.00	\$4,510.00
	*Southern Lawn Equipment	22	EA	\$220.00	\$4,840.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$192.01	\$4,224.22

	Median/ ROW - SW 20th St from				
	175 to SW 60th Ave, and includes				
	ROW to the				
	south of SW 44th Ave up to the				
PWD/SE 18-152	utility boxes	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$125.00	\$2,750.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$300.00	\$6,600.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$275.00	\$6,050.00
	MWM Lawn and Landscape, LLC	22	EA	\$250.00	\$5,500.00
	*Southern Lawn Equipment	22	EA	\$325.00	\$7,150.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$300.07	\$6,601.54

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	Median/ ROW - SW 60th Ave from		ment		
	SW 42nd St to W SR 40. mow to				
	fence line / weed control fence				
PWD/SE 18-153	line	22	EA		
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$125.00	\$2,750.00
	*Southern Lawn Care Mid Florida				•
	Inc	22	EA	\$375.00	\$8,250.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$375.00	\$8,250.00
	MWM Lawn and Landscape, LLC	22	EA	\$300.00	\$6,600.00
	*Southern Lawn Equipment	22	EA	\$400.00	\$8,800.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$376.74	\$8,288.28

	Median/ ROW - SW 46th Ave from				
	W SR 40 to SW 44th Ave at SW				
PWD/SE 18-154	20th Street	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$295.00	\$6,490.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$295.00	\$6,490.00
	MWM Lawn and Landscape, LLC	22	EA	\$350.00	\$7,700.00
	*Southern Lawn Equipment	22	EA	\$300.00	\$6,600.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$296.21	\$6,516.62

	Median/ ROW - SW 17th Street				
	Extension from State Road 200 to				
PWD/SE 18-155	SW 27th Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$180.00	\$3,960.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$185.00	\$4,070.00
	MWM Lawn and Landscape, LLC	22	EA	\$180.00	\$3,960.00
	*Southern Lawn Equipment	22	EA	\$225.00	\$4,950.00

			Unit of		
Line Item Number	Description	Quantity	Measure ment	Unit Price	Amount
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$1,584.28	\$34,854.16
			•		
	Median/ ROW -SW 13th Street				
PWD/SE 18-156	from SW 27th Ave to SW 37th Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$145.00	\$3,190.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$145.00	\$3,190.00
	MWM Lawn and Landscape, LLC	22	EA	\$125.00	\$2,750.00
	*Southern Lawn Equipment	22	EA	\$150.00	\$3,300.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$147.42	\$3,243.24
			•		
	Median - State Road 200 Medians				
PWD/SE 18-157	(one west of I75)	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$30.00	\$660.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$31.50	\$693.00
	MWM Lawn and Landscape, LLC	22	EA	\$25.00	\$550.00
	*Southern Lawn Equipment	22	EA	\$50.00	\$1,100.00
	Extreme Enterprises of Marion				·
	County, Inc	22	EA	\$31.40	\$690.80
			•	•	
	Median - College Park entrance at				
PWD/SE 18-158	SW 32nd Ave and State Road 200	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$45.00	\$990.00
	*Southern Lawn Care Mid Florida			·	,
	Inc	22	EA	\$10.00	\$220.00
	*Tree Service Group, Inc/RJW-			,	,
	Outdoor Service Specialist	22	EA	\$12.75	\$280.50
					,
	MWM Lawn and Landscape, LLC	22	EA	\$12.00	\$264.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$12.74	\$280.28
PWD/SE 18-159	ROW - SW 3rd Street from SW 24 Ave to Pine Ave. Mow/Weedeat behind handrail from MLK to SW 17 Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida			722.00	+ -,
	Inc	22	EA	\$75.00	\$1,650.00
	*Tree Service Group, Inc/RJW-			7:0:00	+ - /
	Outdoor Service Specialist	22	EA	\$75.00	\$1,650.00
				7.0.00	+ - /
	MWM Lawn and Landscape, LLC	22	EA	\$75.00	\$1,650.00
	*Southern Lawn Equipment	22	EA	\$75.00	\$1,650.00
	Extreme Enterprises of Marion				, ,
	County, Inc	22	EA	\$76.21	\$1,676.62
			•	<u> </u>	
	ROW - SW Fort Kina Street from				
	Martin Luther King Jr Avenue to				
PWD/SE 18-160	Pine Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$55.00	\$1,210.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$58.00	\$1,276.00
	MWM Lawn and Landscape, LLC	22	EA	\$130.00	\$2,860.00
	*Southern Lawn Equipment	22	EA	\$125.00	\$2,750.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$57.33	\$1,261.26
	ROW - SW 5th Street from Martin				
	Luther Kina Jr Avenue to SW 27th				
PWD/SE 18-161	Ave	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$60.00	\$1,320.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$120.00	\$2,640.00

Line Item Number	Description	Quantity	Unit of Measure	Unit Price	Amount
	*T C ' C 1 /D.II./		ment		
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$60.00	\$1,320.00
	MWM Lawn and Landscape, LLC	22	EA	\$130.00	\$2,860.00
	*Southern Lawn Equipment	22	EA	\$145.00	\$3,190.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$124.67	\$2,742.74

	ROW - SW 57th Avenue from SW				
PWD/SE 18-162	20th Street to SW 25th Street	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$60.00	\$1,320.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.00
	MWM Lawn and Landscape, LLC	22	EA	\$25.00	\$550.00
	*Southern Lawn Equipment	22	EA	\$30.00	\$660.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$23.89	\$525.58

	ROW - SW 23rd Ave from SW 17th				
	Street extension of W State Road				
PWD/SE 18-164	40	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$45.00	\$990.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$50.00	\$1,100.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.00
	MWM Lawn and Landscape, LLC	22	EA	\$25.00	\$550.00
	*Southern Lawn Equipment	22	EA	\$55.00	\$1,210.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$53.69	\$1,181.18

	ROW - SW 23rd Avenue from W				
PWD/SE 18-165	State Road 40 to Nw 4th Street	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$45.00	\$990.00

	Г				
			Unit of		
Line Item Number	Description	Quantity	Measure	Unit Price	Amount
			ment		
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$60.00	\$1,320.0
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$55.00	\$1,210.0
	,			700100	7 - 7 6 - 7
	MWM Lawn and Landscape, LLC	22	EA	\$55.00	\$1,210.0
	*Southern Lawn Equipment	22	EA	\$55.00	\$1,210.0
	Extreme Enterprises of Marion	22	LA	\$55.00	71,210.0
	· ·	22	ΕΛ	¢61.20	¢1 246 4
	County, Inc	22	EA	\$61.20	\$1,346.4
	ROW - SW Martin Luther King Jr				
	Avenue from SW 17th to State				
PWD/SE 18-166	Road 40	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.9
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.0
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$110.00	\$2,420.0
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.0
				,	, ,
	MWM Lawn and Landscape, LLC	22	EA	\$120.00	\$2,640.0
	*Southern Lawn Equipment	22	EA	\$125.00	\$2,750.0
	Extreme Enterprises of Marion	22	LA	7123.00	72,730.0
	County, Inc	22	EA	\$110.11	\$2,422.4
	County, inc	22	LA	\$110.11	72,422.4
	Miscellaneous - Alley from SW 5th				
DIAID (SE 40, 467	Street to SW 7th Street on west	22			
PWD/SE 18- 167	side of N H Jones Elementary	22	EA	410.15	4000
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.9
	Gamco Properties III, INC	22	EA	\$45.00	\$990.0
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$35.00	\$770.0
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.0
	MWM Lawn and Landscape, LLC	22	EA	\$40.00	\$880.0
	*Southern Lawn Equipment	22	EA	\$50.00	\$1,100.0
	Extreme Enterprises of Marion			,	, ,====
	County, Inc	22	EA	\$35.44	\$779.6
			1 -, ,	700.11	φ,,σ.υ
	SW 20th Street from I75 to SW				
DWD/CE 40 460		22	Ε.Δ		
PWD/SE 18-168	27th Ave (both sides)	22	EA		

Lina Hana Niconahan			Unit of		
Line Item Number	Description	Quantity	Measure ment	Unit Price	Amount
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$50.00	\$1,100.00
k	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$35.00	\$770.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$125.00	\$2,750.00
	MWM Lawn and Landscape, LLC	22	EA	\$40.00	\$880.00
	*Southern Lawn Equipment	22	EA	\$75.00	\$1,650.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$35.44	\$779.68
	Mowing SW 12th Ave from SW				
PWD/SE 18-170	12th Street to SW 17th Street	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$45.00	\$630.00
×	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$30.00	\$420.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$50.00	\$700.00
	MWM Lawn and Landscape, LLC	14	EA	\$50.00	\$700.00
	*Southern Lawn Equipment	14	EA	\$25.00	\$350.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$31.85	\$445.90
	Mowing SW 15th Ave from SW				
PWO/SE 18-171	17th Street to SW 12th Street	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$40.00	\$560.00
*	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$10.00	\$140.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$50.00	\$700.00
	MWM Lawn and Landscape, LLC	14	EA	\$50.00	\$700.00
	*Southern Lawn Equipment	14	EA	\$25.00	\$350.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$9.10	\$127.40
	Mowing SW 12th Ave from SW				
PWD/SE 18-172	17th Street to SW 20th Street	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30

Line Item Number	Description	Quantity	Unit of Measure	Unit Price	Amount
			ment		
	Gamco Properties III, INC	14	EA	\$45.00	\$630.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$30.00	\$420.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$50.00	\$700.00
	MWM Lawn and Landscape, LLC	14	EA	\$30.00	\$420.00
	*Southern Lawn Equipment	14	EA	\$25.00	\$350.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$31.85	\$445.90

	Mowing SW 20th Street from SW				
PWD/SE 18-173	7th Ave to SW 15th Ave	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$50.00	\$700.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$30.00	\$420.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$60.00	\$840.00
	MWM Lawn and Landscape, LLC	14	EA	\$30.00	\$420.00
	*Southern Lawn Equipment	14	EA	\$65.00	\$910.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$31.85	\$445.90

	Mowing SW 7th Ave from SW				
PWD/SE 18-174	20th St to SW 16th Lane	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$50.00	\$700.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$35.00	\$490.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$0.00	\$0.00
	MWM Lawn and Landscape, LLC	14	EA	\$40.00	\$560.00
	*Southern Lawn Equipment	14	EA	\$65.00	\$910.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$36.40	\$509.60

to SW of n PWD/SE 18-175 beh *Sou	owing SW 22nd PI from S Pine / 3rd Ave, mowing both sides the road and the back of the sidewalk on the north side nowing, edging, weed eating, aind fire hydrants, utility poles *Ortega Lee Cosby Gamco Properties III, INC	14 14	EA EA	\$40.45	\$566.30
*Sou	*Ortega Lee Cosby			· ·	\$566.30
	Gamco Properties III INC	1.1	- A		· ·
	Games i roperties in, nie	14	EA	\$55.00	\$770.00
*	uthern Lawn Care Mid Florida Inc	14	EA	\$90.00	\$1,260.00
	Tree Service Group, Inc/RJW- Outdoor Service Specialist	14	EA	\$150.00	\$2,100.00
MV	WM Lawn and Landscape, LLC	14	EA	\$90.00	\$1,260.00
	*Southern Lawn Equipment	14	EA	\$75.00	\$1,050.00
Ex	xtreme Enterprises of Marion County, Inc	14	EA	\$91.00	\$1,274.00

	Mowing SW 9th Ave from SW				
PWD/SE 18-176	17th Pl to SW 20th Street	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$15.00	\$210.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$35.00	\$490.00
	MWM Lawn and Landscape, LLC	14	EA	\$15.00	\$210.00
	*Southern Lawn Equipment	14	EA	\$55.00	\$770.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$18.20	\$254.80

	Mowing SW 15th Ave from SW				
PWD/SE 18-177	17th Street to SW 20th Street	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$20.00	\$280.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$35.00	\$490.00
	MWM Lawn and Landscape, LLC	14	EA	\$20.00	\$280.00

			Unit of		
Line Item Number	Description	Quantity	Measure	Unit Price	Amount
			ment		
	*Southern Lawn Equipment	14	EA	\$30.00	\$420.0
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$22.75	\$318.5
	Mowing SW 17th Ave from SW				
PWD/SE 18-178	Martin Luther Kina Jr to SW 17th St	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.3
	Gamco Properties III, INC	14	EA	\$20.00	\$280.0
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$40.00	\$560.0
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$40.00	\$560.0
	MWM Lawn and Landscape, LLC	14	EA	\$40.00	\$560.0
	*Southern Lawn Equipment	14	EA	\$40.00	\$560.0
	Extreme Enterprises of Marion			¥ 10100	7000
	County, Inc	14	EA	\$40.95	\$573.3
	Mowing SW 18th Ave from SW				
PWD/SE 18-179	Martin Luther Kina Jr to SW 17th St	14	EA		
F VVD/3L 18-1/9	*Ortega Lee Cosby	14	EA	\$40.45	\$566.3
	Gamco Properties III, INC	14	EA	\$20.00	\$280.0
	*Southern Lawn Care Mid Florida	17		\$20.00	7200.0
	Inc	14	EA	\$20.00	\$280.0
	*Tree Service Group, Inc/RJW-			7=0:00	7-221
	Outdoor Service Specialist	14	EA	\$40.00	\$560.0
				440.00	44.00
	MWM Lawn and Landscape, LLC	14	EA	\$10.00	\$140.0
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.0
	Extreme Enterprises of Marion County, Inc	1.4	E 4	¢0.10	¢127 /
	County, inc	14	EA	\$9.10	\$127.4
	Mowing SW 12th Street from SW				
DM/D/CE 10 100	Martin Luther Kina Ir to SM 7th Pd	1./			

	Mowing SW 12th Street from SW				
PWD/SE 18-180	Martin Luther Kina Jr to SW 7th Rd	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$40.00	\$560.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$40.00	\$560.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	14	EA	\$40.00	\$560.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion	14	EA	333.00	\$490.00
	County, Inc	14	EA	\$40.95	\$573.30
	County, me	14	LA	Ş 4 0.55	\$373.30
	Mowing SW 7th Rd from SW 16th				
PWD/SE 18-181	Ln to SW 10th Street	14	EA		
1 11 5/02 10 101	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida			720.00	+ 200.00
	Inc	14	EA	\$50.00	\$700.00
	*Tree Service Group, Inc/RJW-			700.00	***************************************
	Outdoor Service Specialist	14	EA	\$25.00	\$350.00
				,	, , , , , ,
	MWM Lawn and Landscape, LLC	14	EA	\$50.00	\$700.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion			·	·
	County, Inc	14	EA	\$54.60	\$764.40
			•		
	Mowing SW 6th Ave from SW				
PWD/SE 18-182	10th St to SW 17th Loop	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$45.00	\$630.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$35.00	\$490.00
	MWM Lawn and Landscape, LLC	14	EA	\$50.00	\$700.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$45.50	\$637.00
	Mowing SW 5th Ave from SW				
PWD/SE 18-183	10th St to SW 17th Street	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$25.00	\$350.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$35.00	\$490.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	14	EA	\$50.00	\$700.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion			·	·
	County, Inc	14	EA	\$27.30	\$382.20
	Mowing SW 16th St from SW 6th				
PWD/SE 18-184	Ave to S Pine Ave	14	EA		
, 62 26 26 .	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida			7=3:33	7-2010
	Inc	14	EA	\$60.00	\$840.00
	*Tree Service Group, Inc/RJW-			,	,
	Outdoor Service Specialist	14	EA	\$35.00	\$490.00
	MWM Lawn and Landscape, LLC	14	EA	\$50.00	\$700.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion	± 1		γ33.00	ŷ 130.0t
	County, Inc	14	EA	\$63.70	\$891.80
	Mowing SW 15th St from SW 6th				
DWD/CE 10 10E	Ave to S Pine Ave	14	EA		
PWD/SE 18-185	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida	14	LA	\$20.00	\$280.00
	Inc	14	EA	\$15.00	\$210.00
	*Tree Service Group, Inc/RJW-		LA	\$13.00	\$210.00
	Outdoor Service Specialist	14	EA	\$35.00	\$490.00
	Outdoor Service Specialist	17		755.00	Ş-30.00
	MWM Lawn and Landscape, LLC	14	EA	\$12.00	\$168.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion				·
	County, Inc	14	EA	\$13.65	\$191.10
	Marriag CVA/ 1 4th Ct frage CVA/ Cth				
PWD/SE 18-186	Mowing SW 14th St from SW 6th Ave to S Pine Ave	14	EA		
. 175/52 10 100	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida			7_0.00	Ψ200.00
	Inc	14	EA	\$15.00	\$210.00
	*Tree Service Group, Inc/RJW-				
				405 001	4

EA

14

Outdoor Service Specialist

\$35.00

\$490.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
			ment		
	MWM Lawn and Landscape, LLC	14	EA	\$12.00	\$168.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$13.65	\$191.10
			•		
	Mowing SW 13th St from SW 6th				
PWD/SE 18-187	Ave to S Pine Ave	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$60.00	\$840.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$35.00	\$490.00
	MWM Lawn and Landscape, LLC	14	EA	\$60.00	\$840.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$63.70	\$891.80
DIAID (05 40 400	Mowing SW 12th St from SW 6th	4.4			
PWD/SE 18-188	Ave to S Pine Ave	14	EA	Ć40.45	¢5.66.20
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC *Southern Lawn Care Mid Florida	14	EA	\$20.00	\$280.00
		14	EA	\$80.00	\$1,120.00
	Inc *Tree Service Group, Inc/RJW-	14	EA	\$35.00	\$1,120.00
	Tree Service Group, mc/1344-	14	LA	333.00	\$450.00
	MWM Lawn and Landscape, LLC	14	EA	\$80.00	\$1,120.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion		271	755.00	ψ 130.00
	County, Inc	14	EA	\$81.90	\$1,146.60
				70-00	7 = 7 = 10100
	Mowing SW 11th St from SW 6th				
PWD/SE 18-189	Ave to S Pine Ave	14	EA		
·	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$15.00	\$210.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$35.00	\$490.00
	MWM Lawn and Landscape, LLC	14	EA	\$12.00	\$168.00

Line Item Number	Description	Quantity	Unit of Measure	Unit Price	Amount
			ment		
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion				
	County, Inc	14	EA	\$13.65	\$191.10
	Mowing SW 8th St from SW 6th				
	Ave to SW 5th Ave, also includes				
D	behind the building, and next to				
PWD/SE 18-190	the wooded fence	14	EA	440.45	45.55.00
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$20.00	\$280.00
	*Southern Lawn Care Mid Florida			400.00	40.40.00
	Inc	14	EA	\$60.00	\$840.00
	*Tree Service Group, Inc/RJW-			4 00	4500.00
	Outdoor Service Specialist	14	EA	\$45.00	\$630.00
	MWM Lawn and Landscape, LLC	14	EA	\$60.00	\$840.00
	*Southern Lawn Equipment	14	EA	\$35.00	\$490.00
	Extreme Enterprises of Marion				·
	County, Inc	14	EA	\$63.70	\$891.80
				•	
	ROW - SW 30th Ct north of SW				
PWD/SE 18-191	20th Street to SW 19th Street	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$20.00	\$440.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$30.00	\$660.00
	MWM Lawn and Landscape, LLC	22	EA	\$20.00	\$440.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$20.02	\$440.44
	Miscellaneous - SW 57th Ave from				
	SW 25th Street south to the dead				
	end mowing next to tree line and				
	fence line. Includes mowing ROW				
DMD /CE 40 403	behind utility poles, and fire	1.4	E 4		
PWD/SE 18-192	hydrants	14	EA	Ć 40. 45	45.66.30
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$35.00	\$490.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$55.00	\$770.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$60.00	\$840.00
	MWM Lawn and Landscape, LLC	14	EA	\$40.00	\$560.00
	*Southern Lawn Equipment	14	EA	\$30.00	\$420.00
	Extreme Enterprises of Marion			_	
	County, Inc	14	EA	\$59.15	\$828.10
	Miscellaneous - SW 25th Street				
	from SW 57th Ave to SW 60th Ave				
	mowing up to tree line and fence				
	line. Includes mowing ROW				
PWD/SE 18-193	behind utility poles, and fire	14	EA		
PWD/3E 10-193	hydrants *Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$35.00	\$490.00
	*Southern Lawn Care Mid Florida	14	LA	733.00	Ç450.00
	Inc	14	EA	\$55.00	\$770.00
	*Tree Service Group, Inc/RJW-			φσο.σσ	φ//σ.σσ
	Outdoor Service Specialist	14	EA	\$55.00	\$770.00
	MWM Lawn and Landscape, LLC	14	EA	\$55.00	\$770.00
	*Southern Lawn Equipment	14	EA	\$55.00	\$770.00
	Extreme Enterprises of Marion			755.00	7770.00
	County, Inc	14	EA	\$59.15	\$828.10

	Miscellaneous - SW 10th Rd from				
	SW 20th Ct west to dead end of				
	street. Mowing ROW next to tree				
	line, and fence line. Includes				
	mowing ROW behind Utility poles				
PWD/SE 18-194	and fire hydrants	14	EA		
	*Ortega Lee Cosby	14	EA	\$40.45	\$566.30
	Gamco Properties III, INC	14	EA	\$25.00	\$350.00
	*Southern Lawn Care Mid Florida				
	Inc	14	EA	\$50.00	\$700.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	14	EA	\$55.00	\$770.00
	MWM Lawn and Landscape, LLC	14	EA	\$40.00	\$560.00

	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Southern Lawn Equipment	14	EA	\$55.00	\$770.00
	Extreme Enterprises of Marion County, Inc	14	EA	\$54.60	\$764.40
	2014 405 014 71 61 6 4 444				
	ROW - 195 SW 7th Str from MLK				
PWD/SW 18-195	to SW 23rd Ave	22	EA	4.0.0	4000
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$35.00	\$770.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$35.00	\$770.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$65.00	\$1,430.00
	MWM Lawn and Landscape, LLC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$100.00	\$2,200.00
	ROW - 196 SW 17th Ave from SW				
PWD/SW 18-196	7th St to SW 5th St	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$35.00	\$770.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$35.00	\$770.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.00
	MWM Lawn and Landscape, LLC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$75.00	\$1,650.00
	ROW - SW 21st Ave from SR 40 to				
PWD/SW 18-197	SW 5th St	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$35.00	\$770.00
	*Southern Lawn Care Mid Florida				-
	Inc	22	EA	\$35.00	\$770.00
	*Tree Service Group, Inc/RJW-				•
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.00
	·				
	MWM Lawn and Landscape, LLC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Equipment		EA	\$25.00	\$550.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$80.00	\$1,760.00

	ROW - SW 13th Ave from SR 40 to				
PWD/SW 18-198	SW 7th St	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$35.00	\$770.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$35.00	\$770.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.00
	MWM Lawn and Landscape, LLC	22	EA	\$100.00	\$2,200.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$90.00	\$1,980.00

	ROW - SW 5th St from MLK east to				
PWD/SW 18-199	dead end	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$35.00	\$770.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$35.00	\$770.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$35.00	\$770.00
	MWM Lawn and Landscape, LLC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$110.00	\$2,420.00

	Median/ROW-Hwy 40 from top of bridge near Pine, to median on				
PWD/South 18-200		22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$35.00	\$770.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$125.00	\$2,750.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$125.00	\$2,750.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	MWM Lawn and Landscape, LLC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Equipment	22	EA	\$135.00	\$2,970.00
	Extreme Enterprises of Marion			φ_00.00	+ = , = , = . = . = . = . = . = . = . = .
	County, Inc	22	EA	\$350.00	\$7,700.00
			1	,	1 /
	ROW - Pine to 40 - both sides of				
PWD/South 18-201	Magnolia South	22	EA		
,	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida			, , , ,	,
	Inc	22	EA	\$125.00	\$2,750.00
	*Tree Service Group, Inc/RJW-			·	. ,
	Outdoor Service Specialist	22	EA	\$55.00	\$1,210.00
				, , , , ,	1 /
	MWM Lawn and Landscape, LLC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Equipment	22	EA	\$135.00	\$2,970.00
	Extreme Enterprises of Marion				. ,
	County, Inc	22	EA	\$170.00	\$3,740.00
			l		<u> </u>
	ROW -Mowing SE 15 Ave south of				
	SE 17 ST to the dead end,				
	bothsides of the road, edge				
PWD/SW 18·202	curb,sidewalk	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$45.00	\$990.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$100.00	\$2,200.00
	MWM Lawn and Landscape, LLC	22	EA	\$200.00	\$4,400.00
	*Southern Lawn Equipment	22	EA	\$50.00	\$1,100.00
	Extreme Enterprises of Marion		LA	00.00	\$1,100.00
	County, Inc	22	EA	\$42.00	\$924.00
	County, inc	22	LA	342.00	3924.00
	SW 42 St bridge mow all slopes of				
	the embankment, over the I-75				
PWD/SW 18-203	highway	3	EA		
F VV D/ S VV 18-203	*Ortega Lee Cosby	3	EA	\$40.45	\$121.35
	Gamco Properties III, INC	3	EA	\$100.00	\$300.00
	*Southern Lawn Care Mid Florida		-/-	7100.00	\$500.00
	Inc	3	EA	\$625.00	\$1,875.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	3	EA	\$95.00	\$285.00
	MWM Lawn and Landscape, LLC	3	EA	\$150.00	\$450.00
	*Southern Lawn Equipment	3	EA	\$600.00	\$1,800.00
	Extreme Enterprises of Marion				
	County, Inc	3	EA	\$1,500.00	\$4,500.00

	City lot "Across street from Pistol				
	Range" SW 23 Ave & 10 St. Parcel				
	number				
PWD/SW 18-204	23553-000-00	3	EA		
	*Ortega Lee Cosby	3	EA	\$40.45	\$121.35
	Gamco Properties III, INC	3	EA	\$20.00	\$60.00
	*Southern Lawn Care Mid Florida				
	Inc	3	EA	\$75.00	\$225.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	3	EA	\$100.00	\$300.00
	MWM Lawn and Landscape, LLC	3	EA	\$50.00	\$150.00
	*Southern Lawn Equipment	3	EA	\$30.00	\$90.00
	Extreme Enterprises of Marion				
	County, Inc	3	EA	\$250.00	\$750.00

	SW 4 St From SW 10 Ave to SW 24				
	Ave mowing up to tree line, and				
	fence line. Includes mowing ROW				
	behind utility poles, and fire				
PWD/SW 18-205	hydrants	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$25.00	\$550.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$95.00	\$2,090.00
	MWM Lawn and Landscape, LLC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Equipment	22	EA	\$25.00	\$550.00
	Extreme Enterprises of Marion	_		_	
	County, Inc	22	EA	\$124.67	\$2,742.74

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	SW 2 St from MLK to SW Pine Ave				
	mowing up to tree line, and fence				
	line. Includes mowing ROW utility				
PWD/SW 18-206	poles & fire hydrants	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$125.00	\$2,750.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$90.00	\$1,980.00
	MWM Lawn and Landscape, LLC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Equipment	22	EA	\$130.00	\$2,860.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$76.21	\$1,676.62
	SW 5 Ave from SW Broadway to				
	SW 3 St mowing up to tree line,				
	and fence line. Includes mowing				
	ROW behind utility poles, and fire				
PWD/SW 18-207	hydrants	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$25.00	\$550.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$90.00	\$1,980.00
	MWM Lawn and Landscape, LLC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Equipment	22	EA	\$30.00	\$660.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$50.00	\$1,100.00
	SW 17 Loop from dead end near				
	SW 6 Ave around to SW 5 Ave.				
	Loop road around SW 17 St				
	bridge. Mowing up to tree line,				
	and fence line. Includes mowing				
DIA(D (C) : 10 000	ROW behind utility poles and fire	22			
PWD/SW 18-208	hydrants	22	EA	d	4000 55
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$35.00	\$770.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$225.00	\$4,950.00
	MWM Lawn and Landscape, LLC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Equipment	22	EA	\$40.00	\$880.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$10.00	\$220.00
	SW 5 Pl from SW 19 Ave to M.L.K				
	mowing up to tree line and fence				
	line. Includes mowing ROW				
DMD /CM 40 200	behind utility poles, and fire	22			
PWD/SW 18-209	hydrants *Ortoga Loo Coshy	22	EA	¢40.45	¢ 9 9 0 0 0
	*Ortega Lee Cosby		EA	\$40.45	\$889.90
	Gamco Properties III, INC *Southern Lawn Care Mid Florida	22	EA	\$20.00	\$440.00
	Southern Lawn Care Mid Florida	22	EA	\$25.00	\$550.00
	*Tree Service Group, Inc/RJW-	22	EA	\$25.00	\$550.00
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.00
	Outdoor Service Specialist	22	LA	\$30.00	\$1,100.00
	MWM Lawn and Landscape, LLC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Equipment	22	EA	\$30.00	\$660.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$10.00	\$220.00
	SW 6 St From SW 19 Ave to MLK				
	mowing up to tree line, and fence				
	line. Includes mowing ROW				
	behind utility poles and fire				
PWD/SW 18-210	hydrants	22	EA		
1 000/300 10 210	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida			Ψ20.00	φσ.σ
	Inc	22	EA	\$25.00	\$550.00
	*Tree Service Group, Inc/RJW-			7_3.00	+350.00
	Outdoor Service Specialist	22	EA	\$50.00	\$1,100.00
					. ,
	MWM Lawn and Landscape, LLC	22	EA	\$150.00	\$3,300.00
	*Southern Lawn Equipment	22	EA	\$30.00	\$660.00

Extreme Enterprises of Marion

County, Inc

22

EA

\$10.00

\$220.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	SW 2 St From MLK Ave to Pine				
	mowing up to tree line, and fence				
	line. Includes mowing ROW				
	behind utility poles, and fire				
PWD/SW 18-211	hydrants	22	0		
	*Ortega Lee Cosby	22	0	\$40.45	\$889.90
	Gamco Properties III, INC	22	0	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida				
	Inc	22	0	\$85.00	\$1,870.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	0	\$80.00	\$1,760.00
			_	4	4
	MWM Lawn and Landscape, LLC	22	0	\$150.00	\$3,300.00
	*Southern Lawn Equipment	22	0	\$90.00	\$1,980.00
	Extreme Enterprises of Marion	22		ć10.00	¢220.00
	County, Inc	22	0	\$10.00	\$220.00
	SW Fort King from SW 24 Ave to				
	Pine ave mowing up to tree line,				
	and fence line. Includes mowing				
	ROW behind utility poles, and fire				
PWD/SW 18-212	hydrants	22	EA		
1 115/011 10 212	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00
	*Southern Lawn Care Mid Florida			7=0.00	7
	Inc	22	EA	\$225.00	\$4,950.00
	*Tree Service Group, Inc/RJW-				, ,
	Outdoor Service Specialist	22	EA	\$80.00	\$1,760.00
	·				
	MWM Lawn and Landscape, LLC	22	EA	\$300.00	\$6,600.00
	*Southern Lawn Equipment	22	EA	\$230.00	\$5,060.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$10.00	\$220.00
	SW 7 Pl from SW 23 Ave to SW 19				
	Ave mowing up to tree line, and				
	fence line. Includes mowing ROW				
	behind utility poles, and fire				
PWD/SW 18-213	hydrants	22	EA		
	*Ortega Lee Cosby	22	EA	\$40.45	\$889.90
	Gamco Properties III, INC	22	EA	\$20.00	\$440.00

Line Item Number	Description	Quantity	Unit of Measure ment	Unit Price	Amount
	*Southern Lawn Care Mid Florida				
	Inc	22	EA	\$25.00	\$550.00
	*Tree Service Group, Inc/RJW-				
	Outdoor Service Specialist	22	EA	\$60.00	\$1,320.00
	MWM Lawn and Landscape, LLC	22	EA	\$50.00	\$1,100.00
	*Southern Lawn Equipment	22	EA	\$30.00	\$660.00
	Extreme Enterprises of Marion				
	County, Inc	22	EA	\$10.00	\$220.00

^{*}Did not provide the TTC license or hold a current license at time of bid submission.